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10.

State example for stream sources.

]

Answer ALL questions,
PART A — (10 x 2 = 20 marks)

Why you need to tame big data?-

State the benefits of analytic sandbbx'.

- Distinguish between linear and norilinear regression.

What are the parameters used to characterize any fuzzy membership function?

“What is the storage requirement for the DGIM algorithm?
“What are the strength and \veaknGSS of cligue?

If we use a tuangulm matrix to count pairs and n, the number of 1te1ns is 20,

what pair’s count is in a [100].

’

: State'the map—reduce_ strength and weakness. * -

‘What are the benefits of visual data exploration?
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" regression and c1a531f1cat10n with su1tab1e exarnple

()

7_ example, - : N o - ®
@i _-.'_leen the . foIlowmg 3D - 'mp..ut' data‘ identify the plfm_(:lpa_l R
S component 119 246 374 4114 592 TR ¢ ) ISR

PART'B — (5 x 13 = 65 marks)

()  What make a great analysis? State reason with example. ) o

Gi) Distinguishibetween attrition and Response modeling. EERCE
Or .
What are pledlctlon enor" State and explam the p1ed1ct10n errot in .

) Dlstmgulsh between supe1v1sed and unsupelwsed lealnmg w1th‘=’ S

'_,Cons1der a Kohonen self-mgamzmg net w1th two cluste1 un1ts and flve'-';. E
input units. The welght vectms f01 the cluste1 Umts a1e glven by

Wi =[L.0, 0.9, 0.7, 0.5, 0.3]

(@)

(b)

(@)

. W2=[03,05,0.7, 09, 1.0]

Use the square of Euchdean distance to f_mc’z the winning cluster unit f01
the input pattern x = [0.0,0.5, 1.0, 0.5, 0. 0].-Using a lealnmg rate of 0.25,

~ find the new weights for the winning un1t [Hint : the winner unit is one . -

w1th smaller 1ndex]

1) r'Compute the surprise numbel (second moment) fo1 the str eam 3 1,
4,1, 3,4, 2,1, 2. What is the third moment of this st1eam‘7 ' (6)

@G) - State and e‘cplam the funct1on of Bloom Fllteung with example (7Y

B o'r’

(i) 'Suppose that A B,CDE, and F are. all the lterns For a pa1 t1cu1a1 :
support threshold, the maximal frequent item sets ave {A, B, C} and

: ‘{D E}. What is the negative border? - I (6)

- (i) State and explain the real-time analyt1cs platfoun apphcatlons (7)

@) - Gwen a one dnnensmnai dataset {1, . 5 8 10 "2}, use the

agglomerative ciustenng algorithms with the complete link with

FEuclidean - distance to establish’ a  hierarchical - grouping
relationship. By using the maximal lifetime as the cutting

_ threshold, how many clusters a1e ‘there? What is their membership

in each cluster? ' : o (6)
T (1) _State and’ explam the’ clustenng in non- Euchdean space with
example ' , o o . ' b (7)

Or
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Use the k-means algouthm and Euchdcan dlstance to cluster the

_ following 8 examples into 3 clusters: Al1=(2,10), A2=(2,5), A3=(8,4),
A4=(5,8), A5=(7,5), A6= (6,4), A7= (1 2), A8=(4,9). Suppose that-the initial

seeds (centers of each cluster) are Al, A4 and A7. Run the- k means
algonthm for 1 epoch only At the end of tlus epoch show '

i) The new clustels _
S The centres of the new clusters

(1), How many more 1te1 at1ons are. needed to convelge” Draw the result

for each epoch _

('i)"' | What are the 1e1atlonsh1ps between palallel databases and B1g data _

. with respect to three V's? . - - - ®

; (11) * What is the features of MapR d1str1but1on'? State and explam the_ _

' '--a1c111tectu1e for MapR S o o (7) e
() \?Vhat is. the pur pose of shaldlng" Explaln the process of shardmg in . o0
" MongoDB. - S o R (6)

(11) - What - are the v1suahzat10n techmques used v1suahzmg ‘data? :_ -

_ Explam any two apploaches RS s (7)
PART C— (1 X 15 =15 marks)

Here is a collect1011 of twelve baskets Each contams tlnee of the 81X 1te1ns
¥ through 6. :

(1,2, 3.2 3, 4, 45}{4 5, 6}

4, 3, 5} {2, 4, 6141, 3, 4}(2 4,8}
'{3()6}{124}{235}{346} o -
_Suppose the support - tlneshold is 4. On the first pass of the PCY -

Algorithm we use a hash table with ll'bu_cket_s, and'the set {i, i} is

o hashed to bucket ixj mod 11.

(i) By any method compute the suppmt for each item and each pan of
items.

(i) Whlch pairs hash to which buckets? -

. (i) Which buckets are frequent? -

: (w) Whlch pans are counted on the second pass of the PCY Algonthnﬁ

Or

(b) Explain any two clusfering techniques with suitable example.
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